21

16

19 (

H20

H17

H17

H18
H18

H19

H20

H21

13

13

21

10

H14.4.1

H22.5.26

( 692-2)
35
35
44
13
16
() 201323 H2l 208467
() 18 81,144 19 93623 20 107,439 H2l
140,096
() 188120 195166 20 6594 H21 8397
124,450,000 100,000,000 80.4 jg
2.4
18 19 20 21
1 1 1
| 0 0 1
17 20 20 20
| 1 2 3 3
27 18 16 14
| 13 5 5 4
12 10 14 18
28 19 17 15
29 30 34 38
13 5 5 5
55 8,761 46 6,787
21 20
A) 324,433 (328,730) 48667  (50,314)
B) 355,394 (359,192) 0 ©)
(A)-(B) 30,961 ( 30462) 48667  (50,314)
35,888 ( 30,462) 0 ©)
221 (22.6) 917  (86.7) 78539  (95130)
90.0 (91.5) 2430  (100.7) 54808  (62,070)
306 (30.6) 1001  (106.1) 0 )
421 (44.3) 950  (99.9) 0 ©)
11 ( 24) 00 (52) 0 ©)
59.3 (61.1)
( 48667  (50,314)

25 11

20

21




19 20 21
(A) 352,712 328,730 324,433
976 976 991
13,865 13,865 32,862
128,963 113,162 98,155
208,907 200,727 192,425
49,296 50,314 48,667
(B) 368,185 359,192 355,394
211,648 200,128 205,930
77,072 81,265 78,574
156,537 159,064 149,464
99,116 110,032 108,808
(C)=(A)-(B) 15473 30462 30961
D) 2,323 1
E) 4,928
(F)=(D)-(E) 2,323 0 4,927
(G)=(C)+(F) 13,150 30462 35888
(H) 0 0 0
()=(G)+(H) 13,150 30,462 35,888
()
(K)

(L=D)+K)

(M)=(G)+(J) 13,150 30462 35888
(N) 1,808,913 1,795,763 1,765,301
(0)=(M)+(N) 1,795,763 1,765,301 1,729,413

19 20 21
149,322 163,079 154,297
101,285 72,556 61,047
2,350,498 1,872,738 1,731,609
124,450 124,450 124,450
120,599 120,599 124,289
100,982 108,560 92,994
100,982 108,560 92,994
2,125,066 1,639,728 1,514,165
2,499,820 2,035,817 1,885,906
603,075 161,956 63,499
553,000 106,000
41516 48,141 56,246
100,982 108,560 92,994
100,982 108,560 92,994
704,057 270,516 156,493
1,795,763 1,765,301 1,729,413
1,795,763 1,765,301 1,729,413
2,499,820 2,035,817 1,885,906




